
A

A - ASECTION

A

2
C

9

6

5

6

7

C
3

D
4

8

3. DIMENSIONS IN [  ] ARE MILLIMETERS AND

DETECTOR IS SENSED WITHIN 1 MIN.
IN THE MOST SENSITIVE RANGE OF THE LEAK
ASSEMBLY WILL BE REJECTED IF A 2% DEFLECTION

THE ASSEMBLY (BAGGING) WITH HELIUM. THE
FINAL TEST WILL CONSIST OF SURROUNDING

1. THIS IS A ULTRA - HIGH - VACUUM ASSEMBLY (UHV)

NOTES:

2. THE ASSEMBLY  SHALL BE LEAK TESTED
  USING A MASS SPECTROMETER WITH

MINIMUM SENSITIVITY FOR HELIUM
OF 2X 10 -10 STANDARD CC/SEC PER
LEAK METER DIVISION, SUCH AS:

ALCATEL ASM-11OTCL
VARIAN NCR 925 OR 936
VEECO MS-9, MS-90 OR MS-18
Du PONT CEC 24-120B

CALIBRATION OF THE LEAK DETECTOR
SENSITIVITY SHALL BE PERFORMED JUST
PRIOR TO TESTING.

FOR REF. ONLY

KEEP THE UHV PARTS CLEAN DURING ASSEMBLY,
AND WRAP UP FOR PACKING WITH ALUMINUM FOIL

8
7

6

5

4

3
2

1 1

L2-90 LIN. POS. DEVICE MTG. BRKT. ASSY.   L2-910100-02

L2-90 WATER COOLED SLIT ASSEMBLY   L2-910200-03

1

1

10

8

1

8

4

P4105091502-910001 L2-90 REAR SLIT CLAMP

#8 - 32 X 3/4" LG. SOC. HD. SCREW
M5 X 10 LG. SOC. HD. SCREW

LINEAR POSITION DEVICE (25mm TRAVEL)#UTM25PP1HL

REF. SOURCE

KLINGER SCIENTIFIC CORP.
999 STEWART AVE.

GARDEN CITY, NY 11530 USA
TEL: 1-516-745-6800
FAX: 1-516-745-6812

1/4 - 28 X 1 1/4" LG. SOC. HD. SCREW
1/4 - 28 PLATE NUT#190070

1

2

1

MDC VACUUM PRODUCTS CORP.

FAX: 1-510-887-0626
TEL: 1-800-443-8817
HAYWARD, CA 94545-1651
23842 CABOT BLVD.

2

B

P4105091502-910002 L2-90 FRONT SLIT CLAMP 1

1
C

A

D

B

C

8 7 6 5 4 3 2 1

C

B

D

A

12345678

QTYMATERIAL / SPECNOMENCLATURE OR DESCRIPTIONDWG/PART NUMBERITEM

PARTS LIST

ARGONNE NATIONAL LABORATORYU
N

IV

ER S IT Y

O
A

CIHCFO

Y
R

O
T

AR

OBALLANOITAN
E

N
N

O
G

R
A

G

THIS DRAWING IS THE PROPERTY OF

ADVANCED PHOTON SOURCE
TITLE

DRAWING NUMBERSIZE

OFSHEET

SCALE

CHIEF DESIGN ENGINEER DATE

GP LEADER

PROJECT MGR.

LOG NUMBER

MATERIAL

DRAWN BY DATE

CHECKED BY

DESIGNER

RESPONSIBLE ENGINEER

UNLESS OTHERWISE SPECIFIED:
ALL DIMENSIONS ARE IN INCHES

TOLERANCES

DECIMALS ANGULAR

.X    – –   °

.XX   –

.XXX  –

SURFACE ROUGHNESS

REMOVE ALL BURRS AND
BREAK SHARP EDGES .03 MAX.

SURFACE TEXTURE TO BE IN
ACCORDANCE WITH LATEST ANSI B46.1

DIMENSIONING & TOLERANCING IN
ACCORDANCE WITH LATEST ANSI Y14.5

DO NOT SCALE DRAWINGREVISIONS

SYM CHANGE DESCRIPTION BY CHKD DATE

APPROVED/RELEASED

L2910000-03

L2-910000-03

L2-90 "PINK BEAM"
SLIT/BPM VERTICAL
& HORIZONTAL SLIT

ASSEMBLY

1:1

1 1 D

 .03 [.7620]
.01 [0.25]
.005 [0.127]

.25

125

SEE PARTS LIST

MUSCIA 3/5/96

D. SHU 6/23/96

SHU/MUSCIA 3/5/96

D. SHU 6/23/96

D. SHU 6/23/96

T.M. KUZAY 6/26/96

PLOT SCALE: DWG. SCALE:( )D 1=1 1 A2341901

9

10 #630000 BNC CONNECTOR 1

10

5 11 12

13

3 #8 - 32 PLATE NUT#19006911

1 COPPER GASKET#19100012

1 COPPER GASKET#19100413

{
OFHC COPPER

SST

OFHC COPPER

SST

SST

SST

SST

SST

1

DRAWING BROUGHT UP TO DATE M.J.M.

1

1

#191000 WAS #191001

UTM25PP1HL WAS UTMPP1HL

J.B. 2/4/97

DRAWING BROUGHT UP TO DATE M.J.M.2

3 DRAWING BROUGHT UP TO DATE M.J.M. J.B. 10/13/97


